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BES-141 : PEDAGOGY OF SCIENCE 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : All questions are compulsory. All questions carry 
equal weightage. 

1. Answer the following question in about 
600 words : 

What do you understand by 'Science' ? How will 
you explain nature of science to your learners ? 

OR 
Why is it important to facilitate learners in 
developing scientific process skill ? Suggest an 
activity to help learners in acquiring prediction 
skill. 

2. Answer the following question in about 
600 words 

Define cooperative learning strategy. How will 
you use various cooperative learning strategies 
in a science classroom ? Explain with the help of 
suitable examples. 

OR 
How will you identify and frame assessment 
indicators ? Explain with the help of an example 
of an assessment tool for science at the 
secondary level. 
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3. Answer any four of the following questions in 

about 150 words each : 

(a) Suggest an activity to explain the role of 

micro-organisms to your learners. 

(b) Discuss the various types of chemical 

reactions with the help of suitable 

examples. 

(c) How will you use ICT resources to help your 

learners in understanding the process of 

respiration ? 

(d) Explain with examples, the heating effect of 

electricity. 

(e) Discuss the role and functions of national 

disaster management body in India. 

(f) Explain water cycle with the help of 

suitable examples. 

4. Answer the following question in about 

600 words : 

Prepare a 5-E lesson plan on any one of the 
following topics : 

- Acids and Bases 

- Electromagnetic Induction 

- Cell 
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